	HOSPITALS			NURSING HOMES	
Appling					
Hospitals 1	Hospital Beds 39	Avg. Occupancy 62.5%	Nursing Homes 2	Nursing Home Beds 101	Avg. Occupancy 98.3%
In-Patient Days 8,897	Total Admissions 1,666	Avg. Stay <b>5.34</b>	Total Days 36,240		
Atkinson					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Bacon					
Hospitals 1	Hospital Beds 47	Avg. Occupancy 28.9%	Nursing Homes 1	Nursing Home Beds 88	Avg. Occupancy 97.8%
In-Patient Days 4,966	Total Admissions 1,474	Avg. Stay <b>3.37</b>	Total Days 31,428		
Baker					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 0	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Baldwin					
Hospitals 1	Hospital Beds 140	Avg. Occupancy 42.0%	Nursing Homes 3	Nursing Home Beds 216	Avg. Occupancy 90.4%
In-Patient Days 21,452	Total Admissions 4,980	Avg. Stay <b>4.31</b>	Total Days 71,265		
Banks					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 0	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Barrow					
Hospitals 1	Hospital Beds 56	Avg. Occupancy 21.7%	Nursing Homes	Nursing Home Beds 163	Avg. Occupancy 97.8%
In-Patient Days 4,439	Total Admissions 1,355	Avg. Stay <b>3.28</b>	Total Days 58,182		
Bartow					
Hospitals 1	Hospital Beds 112	Avg. Occupancy 50.6%	Nursing Homes 3	Nursing Home Beds 316	Avg. Occupancy 95.5%
In-Patient Days 20,678	Total Admissions 6,292	Avg. Stay <b>3.29</b>	Total Days 110,197		
Ben Hill					
Hospitals 1	Hospital Beds 75	Avg. Occupancy 31.6%	Nursing Homes 2	Nursing Home Beds 245	Avg. Occupancy 70.3%
In-Patient Days 8,648	Total Admissions 2,190	Avg. Stay 3.95	Total Days 62,865		

	HOSPITALS			NURSING HOMES	
Berrien					
Hospitals 1	Hospital Beds 63	Avg. Occupancy 13.4%	Nursing Homes 1	Nursing Home Beds 108	Avg. Occupancy 90.8%
In-Patient Days 3,087	Total Admissions 834	Avg. Stay <b>3.70</b>	Total Days 35,779		
Bibb					
Hospitals 3	Hospital Beds 990	Avg. Occupancy 55.2%	Nursing Homes 10	Nursing Home Beds 1,304	Avg. Occupancy 74.9%
In-Patient Days 199,582	Total Admissions 39,349	Avg. Stay <b>5.07</b>	Total Days <b>356,693</b>		
Bleckley					
Hospitals 1	Hospital Beds 64	Avg. Occupancy 7.6%	Nursing Homes 1	Nursing Home Beds 75	Avg. Occupancy 95.8%
In-Patient Days 1,774	Total Admissions 498	Avg. Stay <b>3.56</b>	Total Days 26,221		
Brantley					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 63	Avg. Occupancy 98.3%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 22,601		
Brooks					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 73.1%	Nursing Homes 1	Nursing Home Beds 188	Avg. Occupancy 98.8%
In-Patient Days 6,670	Total Admissions 868	Avg. Stay <b>7.68</b>	Total Days 67,785		
Bryan					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 100	Avg. Occupancy 94.5%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 34,495		
Bulloch					
Hospitals 1	Hospital Beds 150	Avg. Occupancy 53.9%	Nursing Homes 4	Nursing Home Beds 314	Avg. Occupancy 88.6%
In-Patient Days 29,496	Total Admissions 6,871	Avg. Stay 4.29	Total Days 101,601		
Burke					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 46.4%	Nursing Homes 2	Nursing Home Beds 167	Avg. Occupancy 95.2%
In-Patient Days 6,769	Total Admissions 2,131	Avg. Stay <b>3.18</b>	Total Days 58,031		
Butts					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 34.5%	Nursing Homes	Nursing Home Beds 196	Avg. Occupancy 97.4%
In-Patient Days 3,152	Total Admissions 496	Avg. Stay <b>6.35</b>	Total Days 69,668		

	HOSPITALS			NURSING HOMES	
Calhoun					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 10.2%	Nursing Homes 1	Nursing Home Beds 60	Avg. Occupancy 96.0%
In-Patient Days 1,494	Total Admissions 327	Avg. Stay <b>4.57</b>	Total Days 21,014		
Camden					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 37.4%	Nursing Homes 1	Nursing Home Beds 78	Avg. Occupancy 94.9%
In-Patient Days 5,459	Total Admissions 1,943	Avg. Stay <b>2.81</b>	Total Days 27,006		
Candler					
Hospitals 1	Hospital Beds 60	Avg. Occupancy 26.7%	Nursing Homes 3	Nursing Home Beds 298	Avg. Occupancy 90.0%
In-Patient Days 5,854	Total Admissions 1,452	Avg. Stay <b>4.03</b>	Total Days 97,885		
Carroll					
Hospitals 2	Hospital Beds 221	Avg. Occupancy 54.1%	Nursing Homes 4	Nursing Home Beds 423	Avg. Occupancy 86.5%
In-Patient Days 43,618	Total Admissions 11,007	Avg. Stay <b>3.96</b>	Total Days 133,624		
Catoosa					
Hospitals 1	Hospital Beds 179	Avg. Occupancy 49.5%	Nursing Homes 3	Nursing Home Beds 271	Avg. Occupancy 94.8%
In-Patient Days 32,373	Total Admissions 6,777	Avg. Stay 4.78	Total Days 93,796		
Charlton					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 5.2%	Nursing Homes 1	Nursing Home Beds 92	Avg. Occupancy 85.2%
In-Patient Days 949	Total Admissions 276	Avg. Stay <b>3.44</b>	Total Days 28,623		
Chatham					
Hospitals 3	Hospital Beds 1,137	Avg. Occupancy 62.1%	Nursing Homes 13	Nursing Home Beds 1,289	Avg. Occupancy 72.3%
In-Patient Days 257,636	Total Admissions 46,134	Avg. Stay <b>5.58</b>	Total Days 340,253		
Chattahooche	ee				
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 0	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Chattooga					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds 151	Avg. Occupancy 98.1%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 54,079		

	HOSPITALS			NURSING HOMES	
Cherokee					
Hospitals 1	Hospital Beds 84	Avg. Occupancy 35.3%	Nursing Homes 3	Nursing Home Beds 371	Avg. Occupancy 87.4%
In-Patient Days 10,816	Total Admissions 3,452	Avg. Stay 3.13	Total Days 118,292		
Clarke					
Hospitals 2	Hospital Beds 511	Avg. Occupancy 57.9%	Nursing Homes 4	Nursing Home Beds 446	Avg. Occupancy 89.7%
In-Patient Days 108,005	Total Admissions 24,402	Avg. Stay 4.43	Total Days 145,996		
Clay					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 60	Avg. Occupancy 98.1%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 21,476		
Clayton					
Hospitals 1	Hospital Beds 406	Avg. Occupancy 54.7%	Nursing Homes 4	Nursing Home Beds 639	Avg. Occupancy 83.0%
In-Patient Days 81,111	Total Admissions 18,841	Avg. Stay <b>4.31</b>	Total Days <b>193</b> ,666		
Clinch					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 19.2%	Nursing Homes 1	Nursing Home Beds 92	Avg. Occupancy 83.4%
In-Patient Days 1,754	Total Admissions 310	Avg. Stay <b>5.66</b>	Total Days 28,007		
Cobb					
Hospitals 4	Hospital Beds 1,218	Avg. Occupancy 56.5%	Nursing Homes 14	Nursing Home Beds 1,753	Avg. Occupancy 91.9%
In-Patient Days 251,070	Total Admissions 52,613	Avg. Stay <b>4.77</b>	Total Days 588,160		
Coffee					
Hospitals 1	Hospital Beds <b>88</b>	Avg. Occupancy 61.9%	Nursing Homes 1	Nursing Home Beds 168	Avg. Occupancy 95.9%
In-Patient Days 19,895	Total Admissions 5,813	Avg. Stay <b>3.42</b>	Total Days 58,788		
Colquitt					
Hospitals 1	Hospital Beds 155	Avg. Occupancy 28.5%	Nursing Homes 4	Nursing Home Beds 287	Avg. Occupancy 97.3%
In-Patient Days 16,122	Total Admissions 4,158	Avg. Stay <b>3.88</b>	Total Days 101,945		
Columbia					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds 314	Avg. Occupancy 64.3%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 73,737		

	HOSPITALS			NURSING HOMES	
Cook					
Hospitals	Hospital Beds 60	Avg. Occupancy 29.6%	Nursing Homes 1	Nursing Home Beds 95	Avg. Occupancy 95.2%
In-Patient Days 6,478	Total Admissions 1,875	Avg. Stay <b>3.45</b>	Total Days 32,996		
Coweta					
Hospitals 1	Hospital Beds 143	Avg. Occupancy 48.1%	Nursing Homes 2	Nursing Home Beds 260	Avg. Occupancy 85.1%
In-Patient Days 25,095	Total Admissions 5,635	Avg. Stay 4.45	Total Days 80,787		
Crawford					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 100	Avg. Occupancy 57.7%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 21,056		
Crisp					
Hospitals	Hospital Beds 65	Avg. Occupancy 53.2%	Nursing Homes 2	Nursing Home Beds 243	Avg. Occupancy 90.2%
In-Patient Days 12,618	Total Admissions 3,267	Avg. Stay <b>3.86</b>	Total Days 80,002		
Dade					
Hospitals	Hospital Beds 39	Avg. Occupancy 9.3%	Nursing Homes 1	Nursing Home Beds 71	Avg. Occupancy 94.9%
In-Patient Days 1,322	Total Admissions 109	Avg. Stay 12.13	Total Days 24,585		
Dawson					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Decatur					
Hospitals 1	Hospital Beds <b>80</b>	Avg. Occupancy 45.0%	Nursing Homes 2	Nursing Home Beds 207	Avg. Occupancy 95.3%
In-Patient Days 13,129	Total Admissions 3,103	Avg. Stay 4.23	Total Days 72,016		
DeKalb					
Hospitals 7	Hospital Beds 1,862	Avg. Occupancy 52.8%	Nursing Homes 17	Nursing Home Beds 2,408	Avg. Occupancy 89.5%
In-Patient Days 359,024	Total Admissions 63,388	Avg. Stay <b>5.66</b>	Total Days 786,557		
Dodge					
Hospitals 1	Hospital Beds 94	Avg. Occupancy 33.8%	Nursing Homes 2	Nursing Home Beds 200	Avg. Occupancy 81.1%
In-Patient Days 11,582	Total Admissions 2,904	Avg. Stay 3.99	Total Days 59,173		

	HOSPITALS			NURSING HOMES	
Dooly					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 102	Avg. Occupancy 81.8%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 30,460		
Dougherty					
Hospitals 2	Hospital Beds 690	Avg. Occupancy 50.8%	Nursing Homes	Nursing Home Beds 509	Avg. Occupancy 84.0%
In-Patient Days 128,017	Total Admissions 24,261	Avg. Stay <b>5.28</b>	Total Days 155,990		
Douglas					
Hospitals 1	Hospital Beds 98	Avg. Occupancy 54.6%	Nursing Homes 1	Nursing Home Beds 246	Avg. Occupancy 98.4%
In-Patient Days 19,531	Total Admissions 4,824	Avg. Stay <b>4.05</b>	Total Days 88,377		
Early					
Hospitals 1	Hospital Beds 49	Avg. Occupancy 22.6%	Nursing Homes 1	Nursing Home Beds 127	Avg. Occupancy 96.1%
In-Patient Days 4,035	Total Admissions 404	Avg. Stay <b>9.99</b>	Total Days 44,526		
Echols					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Effingham					
Hospitals 1	Hospital Beds 45	Avg. Occupancy 5.9%	Nursing Homes 1	Nursing Home Beds 105	Avg. Occupancy 99.6%
In-Patient Days 968	Total Admissions 212	Avg. Stay <b>4.57</b>	Total Days 38,162		
Elbert					
Hospitals 1	Hospital Beds 52	Avg. Occupancy 42.3%	Nursing Homes 3	Nursing Home Beds 187	Avg. Occupancy 97.5%
In-Patient Days 8,032	Total Admissions 1,915	Avg. Stay <b>4.19</b>	Total Days 66,537		
Emanuel					
Hospitals 1	Hospital Beds 72	Avg. Occupancy 32.3%	Nursing Homes 3	Nursing Home Beds 262	Avg. Occupancy 89.0%
In-Patient Days 8,490	Total Admissions 2,411	Avg. Stay <b>3.52</b>	Total Days 85,142		
Evans					
Hospitals 1	Hospital Beds 49	Avg. Occupancy 28.5%	Nursing Homes 1	Nursing Home Beds 87	Avg. Occupancy 82.0%
In-Patient Days 5,104	Total Admissions 1,635	Avg. Stay 3.12	Total Days 26,031		

	HOSPITALS			NURSING HOMES	
Fannin					
Hospitals 1	Hospital Beds 46	Avg. Occupancy 54.1%	Nursing Homes 1	Nursing Home Beds 101	Avg. Occupancy 96.3%
In-Patient Days 9,080	Total Admissions 2,903	Avg. Stay <b>3.13</b>	Total Days 35,484		
Fayette					
Hospitals 1	Hospital Beds 116	Avg. Occupancy 58.1%	Nursing Homes 2	Nursing Home Beds 334	Avg. Occupancy 98.9%
In-Patient Days 24,619	Total Admissions 5,906	Avg. Stay <b>4.17</b>	Total Days 120,581		
Floyd					
Hospitals 2	Hospital Beds 534	Avg. Occupancy 63.1%	Nursing Homes 7	Nursing Home Beds 700	Avg. Occupancy 68.8%
In-Patient Days 123,009	Total Admissions 23,927	Avg. Stay <b>5.14</b>	Total Days 175,770		
Forsyth					
Hospitals 1	Hospital Beds 78	Avg. Occupancy 61.8%	Nursing Homes 2	Nursing Home Beds 237	Avg. Occupancy 87.3%
In-Patient Days 17,599	Total Admissions 4,674	Avg. Stay <b>3.77</b>	Total Days 75,549		
Franklin					
Hospitals 1	Hospital Beds 71	Avg. Occupancy 47.5%	Nursing Homes	Nursing Home Beds 144	Avg. Occupancy 99.8%
In-Patient Days 12,303	Total Admissions 2,457	Avg. Stay <b>5.01</b>	Total Days 52,463		
Fulton					
Hospitals 12	Hospital Beds 4,314	Avg. Occupancy 57.3%	Nursing Homes 22	Nursing Home Beds 3,153	Avg. Occupancy 75.7%
In-Patient Days 902,997	Total Admissions 178,478	Avg. Stay <b>5.06</b>	Total Days 871,083		
Gilmer					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 37.3%	Nursing Homes	Nursing Home Beds 100	Avg. Occupancy 99.3%
In-Patient Days 6,811	Total Admissions 1,744	Avg. Stay <b>3.91</b>	Total Days 36,228		
Glascock					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 104	Avg. Occupancy 94.5%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 35,866		
Glynn					
Hospitals 1	Hospital Beds 300	Avg. Occupancy 47.7%	Nursing Homes 5	Nursing Home Beds 505	Avg. Occupancy 54.5%
In-Patient Days 52,266	Total Admissions 10,155	Avg. Stay <b>5.15</b>	Total Days 100,388		

Н	OSPITALS		NURSING HOMES	
Gordon				
Hospitals F	Hospital Beds Avg. Occupancy 69 57.3%	Nursing Homes 2	Nursing Home Beds 217	Avg. Occupancy 98.2%
In-Patient Days Tot 14,434	al Admissions Avg. Stay 3,886 3.71	Total Days 77,748		
Grady				
1	Hospital Beds Avg. Occupancy 60 38.3%	Nursing Homes 1	Nursing Home Beds 142	Avg. Occupancy 76.4%
In-Patient Days Tot 8,391	al Admissions Avg. Stay 1,705 4.92	Total Days 39,593		
Greene				
Hospitals I	Hospital Beds Avg. Occupancy 25 34.3%	Nursing Homes 2	Nursing Home Beds 100	Avg. Occupancy 95.6%
In-Patient Days Tot 3,130	al Admissions Avg. Stay 739 4.24	Total Days 34,896		
Gwinnett				
Hospitals B	Hospital Beds Avg. Occupancy 599 71.3%	Nursing Homes 10	Nursing Home Beds 1,164	Avg. Occupancy 81.4%
In-Patient Days Tot 155,851	al Admissions Avg. Stay 33,634 4.63	Total Days <b>345,875</b>		
Habersham				
Hospitals H	Hospital Beds Avg. Occupancy 53 43.6%	Nursing Homes 2	Nursing Home Beds 232	Avg. Occupancy 84.1%
In-Patient Days Tot 8,433	al Admissions Avg. Stay 2,272 3.71	Total Days 71,179		
Hall				
Hospitals F	Hospital Beds Avg. Occupancy 557 55.3%	Nursing Homes 6	Nursing Home Beds 579	Avg. Occupancy 88.7%
In-Patient Days Tot 112,501	al Admissions Avg. Stay 24,550 4.58	Total Days <b>187,429</b>		
Hancock				
Hospitals F	Hospital Beds Avg. Occupancy	Nursing Homes 2	Nursing Home Beds 152	Avg. Occupancy 91.8%
In-Patient Days Tot	al Admissions Avg. Stay	Total Days 50,956		
Haralson				
Hospitals I	Hospital Beds Avg. Occupancy 25 23.7%	Nursing Homes	Nursing Home Beds 242	Avg. Occupancy 86.0%
In-Patient Days Tot 2,164	al Admissions Avg. Stay 703 3.08	Total Days 75,924		
Harris				
Hospitals F	Hospital Beds Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 100	Avg. Occupancy 94.2%
In-Patient Days Tot	al Admissions Avg. Stay	Total Days 34,373		

	HOSPITALS			NURSING HOMES	
Hart					
Hospitals 1	Hospital Beds 82	Avg. Occupancy 37.6%	Nursing Homes 2	Nursing Home Beds 209	Avg. Occupancy 89.8%
In-Patient Days 11,241	Total Admissions 1,909	Avg. Stay <b>5.89</b>	Total Days 68,533		
Heard					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 78	Avg. Occupancy 99.6%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 28,354		
Henry					
Hospitals 1	Hospital Beds 215	Avg. Occupancy 51.2%	Nursing Homes 2	Nursing Home Beds 249	Avg. Occupancy 92.6%
In-Patient Days 40,161	Total Admissions 9,732	Avg. Stay <b>4.13</b>	Total Days 84,180		
Houston					
Hospitals 1	Hospital Beds 45	Avg. Occupancy 48.0%	Nursing Homes 5	Nursing Home Beds 507	Avg. Occupancy 94.5%
In-Patient Days 7,892	Total Admissions 1,827	Avg. Stay <b>4.32</b>	Total Days 174,897		
Irwin					
Hospitals 1	Hospital Beds 34	Avg. Occupancy 38.4%	Nursing Homes 2	Nursing Home Beds 113	Avg. Occupancy 72.3%
In-Patient Days 4,762	Total Admissions 1,597	Avg. Stay <b>2.98</b>	Total Days 29,818		
Jackson					
Hospitals 1	Hospital Beds 90	Avg. Occupancy 16.5%	Nursing Homes 2	Nursing Home Beds 237	Avg. Occupancy 94.9%
In-Patient Days 5,424	Total Admissions 1,368	Avg. Stay <b>3.96</b>	Total Days 82,107		
Jasper					
Hospitals 1	Hospital Beds 17	Avg. Occupancy 21.8%	Nursing Homes	Nursing Home Beds 55	Avg. Occupancy 97.3%
In-Patient Days 1,350	Total Admissions 344	Avg. Stay <b>3.92</b>	Total Days 19,543		
Jeff Davis					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 16.7%	Nursing Homes	Nursing Home Beds 73	Avg. Occupancy 97.4%
In-Patient Days 3,054	Total Admissions 864	Avg. Stay <b>3.53</b>	Total Days 25,950		
Jefferson					
Hospitals 1	Hospital Beds 65	Avg. Occupancy 14.8%	Nursing Homes 2	Nursing Home Beds 241	Avg. Occupancy 85.7%
In-Patient Days 3,510	Total Admissions 965	Avg. Stay <b>3.64</b>	Total Days 75,359		

	HOSPITALS			NURSING HOMES	
Jenkins					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 18.8%	Nursing Homes 1	Nursing Home Beds 100	Avg. Occupancy 88.4%
In-Patient Days 2,751	Total Admissions 752	Avg. Stay <b>3.66</b>	Total Days 32,275		
Johnson					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 2	Nursing Home Beds 153	Avg. Occupancy 93.9%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 52,455		
Jones					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 2	Nursing Home Beds 162	Avg. Occupancy 93.5%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 55,315		
Lamar					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 117	Avg. Occupancy 95.4%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 40,747		
Lanier					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 42.8%	Nursing Homes	Nursing Home Beds 62	Avg. Occupancy 94.8%
In-Patient Days 3,905	Total Admissions 802	Avg. Stay <b>4.87</b>	Total Days 21,464		
Laurens					
Hospitals 1	Hospital Beds 190	Avg. Occupancy 42.4%	Nursing Homes	Nursing Home Beds 384	Avg. Occupancy 88.7%
In-Patient Days 29,371	Total Admissions 7,511	Avg. Stay <b>3.91</b>	Total Days 124,382		
Lee					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds 60	Avg. Occupancy 98.7%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 21,612		
Liberty					
Hospitals 1	Hospital Beds 32	Avg. Occupancy 43.3%	Nursing Homes	Nursing Home Beds 169	Avg. Occupancy 74.1%
In-Patient Days 5,057	Total Admissions 1,752	Avg. Stay <b>2.89</b>	Total Days 45,714		
Lincoln					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		

	HOSPITALS			NURSING HOMES	
Long					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds 108	Avg. Occupancy 60.6%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 23,879		
Lowndes					
Hospitals 2	Hospital Beds 364	Avg. Occupancy 58.3%	Nursing Homes 4	Nursing Home Beds 367	Avg. Occupancy 95.3%
In-Patient Days 77,476	Total Admissions 16,834	Avg. Stay <b>4.60</b>	Total Days 127,689		
Lumpkin					
Hospitals 1	Hospital Beds 52	Avg. Occupancy 31.1%	Nursing Homes 1	Nursing Home Beds 102	Avg. Occupancy 90.9%
In-Patient Days 5,911	Total Admissions 1,893	Avg. Stay <b>3.12</b>	Total Days 33,848		
McDuffie					
Hospitals 1	Hospital Beds 47	Avg. Occupancy 31.9%	Nursing Homes 1	Nursing Home Beds 150	Avg. Occupancy 94.6%
In-Patient Days 5,464	Total Admissions 1,423	Avg. Stay <b>3.84</b>	Total Days 51,777		
McIntosh					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Macon					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 29.6%	Nursing Homes	Nursing Home Beds 248	Avg. Occupancy 82.1%
In-Patient Days 5,409	Total Admissions 1,329	Avg. Stay <b>4.07</b>	Total Days 74,320		
Madison					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds 116	Avg. Occupancy 99.5%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 42,125		
Marion					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds 70	Avg. Occupancy 91.3%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 23,315		
Meriwether					
Hospitals 1	Hospital Beds 38	Avg. Occupancy 22.4%	Nursing Homes 2	Nursing Home Beds 192	Avg. Occupancy 86.5%
In-Patient Days 3,107	Total Admissions 751	Avg. Stay 4.14	Total Days 60,601		

	HOSPITALS			NURSING HOMES	
Miller					
Hospitals 1	Hospital Beds 38	Avg. Occupancy 31.9%	Nursing Homes 1	Nursing Home Beds 97	Avg. Occupancy 93.2%
In-Patient Days 4,419	Total Admissions 797	Avg. Stay <b>5.54</b>	Total Days 32,989		
Mitchell					
Hospitals 1	Hospital Beds 23	Avg. Occupancy 65.9%	Nursing Homes 2	Nursing Home Beds 156	Avg. Occupancy 99.7%
In-Patient Days 5,531	Total Admissions 863	Avg. Stay <b>6.41</b>	Total Days 56,765		
Monroe					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 22.0%	Nursing Homes 3	Nursing Home Beds 275	Avg. Occupancy 94.4%
In-Patient Days 3,209	Total Admissions 802	Avg. Stay <b>4.00</b>	Total Days 94,726		
Montgomery					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 0	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Morgan					
Hospitals 1	Hospital Beds 20	Avg. Occupancy 45.1%	Nursing Homes 2	Nursing Home Beds 88	Avg. Occupancy 85.5%
In-Patient Days 3,295	Total Admissions 446	Avg. Stay <b>7.39</b>	Total Days 27,455		
Murray					
Hospitals 1	Hospital Beds 29	Avg. Occupancy 41.4%	Nursing Homes	Nursing Home Beds 120	Avg. Occupancy 94.0%
In-Patient Days 4,379	Total Admissions 1,201	Avg. Stay <b>3.65</b>	Total Days 41,167		
Muscogee					
Hospitals 4	Hospital Beds 1,025	Avg. Occupancy 45.9%	Nursing Homes 6	Nursing Home Beds 1,066	Avg. Occupancy 86.0%
In-Patient Days 171,726	Total Admissions 34,132	Avg. Stay <b>5.03</b>	Total Days 334,647		
Newton					
Hospitals 1	Hospital Beds 90	Avg. Occupancy 61.7%	Nursing Homes 2	Nursing Home Beds 230	Avg. Occupancy 93.1%
In-Patient Days 20,263	Total Admissions 5,695	Avg. Stay <b>3.56</b>	Total Days 78,138		
Oconee					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds 100	Avg. Occupancy 84.0%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 30,671		

	HOSPITALS			NURSING HOMES	
Oglethorpe					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 61	Avg. Occupancy 100.2%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 22,307		
Paulding					
Hospitals 1	Hospital Beds 83	Avg. Occupancy 17.8%	Nursing Homes	Nursing Home Beds 182	Avg. Occupancy 88.6%
In-Patient Days 5,392	Total Admissions 1,471	Avg. Stay <b>3.67</b>	Total Days 58,881		
Peach					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 17.7%	Nursing Homes 1	Nursing Home Beds 75	Avg. Occupancy 28.0%
In-Patient Days 1,617	Total Admissions 463	Avg. Stay <b>3.49</b>	Total Days 7,658		
Pickens					
Hospitals <b>1</b>	Hospital Beds 40	Avg. Occupancy 44.1%	Nursing Homes	Nursing Home Beds 164	Avg. Occupancy 98.2%
In-Patient Days 6,435	Total Admissions 1,762	Avg. Stay <b>3.65</b>	Total Days 58,760		
Pierce					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 78	Avg. Occupancy 98.9%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 28,144		
Pike					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 64	Avg. Occupancy 94.7%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 22,118		
Polk					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 18.4%	Nursing Homes 3	Nursing Home Beds 289	Avg. Occupancy 84.6%
In-Patient Days 1,681	Total Admissions 471	Avg. Stay <b>3.57</b>	Total Days 89,256		
Pulaski					
Hospitals 1	Hospital Beds 55	Avg. Occupancy 49.8%	Nursing Homes	Nursing Home Beds 102	Avg. Occupancy 96.5%
In-Patient Days 9,999	Total Admissions 2,642	Avg. Stay <b>3.78</b>	Total Days 35,943		
Putnam					
Hospitals 1	Hospital Beds 50	Avg. Occupancy 17.1%	Nursing Homes	Nursing Home Beds 104	Avg. Occupancy 90.9%
In-Patient Days 3,118	Total Admissions 955	Avg. Stay <b>3.26</b>	Total Days 34,504		

	HOSPITALS			NURSING HOMES	
Quitman Hospitals	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Ava Occupancy
0	riospitai beds	Avg. Occupancy	0	rearing frome beas	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Rabun					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 31.3%	Nursing Homes 1	Nursing Home Beds 117	Avg. Occupancy 83.5%
In-Patient Days 2,852	Total Admissions 766	Avg. Stay <b>3.72</b>	Total Days 35,671		
Randolph					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 8.3%	Nursing Homes 1	Nursing Home Beds 80	Avg. Occupancy 98.6%
In-Patient Days 1,211	Total Admissions 285	Avg. Stay <b>4.25</b>	Total Days 28,795		
Richmond					
Hospitals 4	Hospital Beds 1,823	Avg. Occupancy 46.3%	Nursing Homes 9	Nursing Home Beds 1,038	Avg. Occupancy 86.1%
In-Patient Days 308,069	Total Admissions 56,716	Avg. Stay <b>5.43</b>	Total Days <b>326,252</b>		
Rockdale					
Hospitals 1	Hospital Beds 138	Avg. Occupancy 61.5%	Nursing Homes 2	Nursing Home Beds 275	Avg. Occupancy 95.2%
In-Patient Days 30,984	Total Admissions 7,162	Avg. Stay <b>4.33</b>	Total Days 95,518		
Schley					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Screven					
Hospitals 1	Hospital Beds 49	Avg. Occupancy 13.9%	Nursing Homes 1	Nursing Home Beds 128	Avg. Occupancy 89.1%
In-Patient Days 2,485	Total Admissions 652	Avg. Stay <b>3.81</b>	Total Days 41,630		
Seminole					
Hospitals 1	Hospital Beds 65	Avg. Occupancy 30.6%	Nursing Homes	Nursing Home Beds 75	Avg. Occupancy 69.2%
In-Patient Days 7,255	Total Admissions 2,139	Avg. Stay <b>3.39</b>	Total Days 18,932		
Spalding					
Hospitals	Hospital Beds 160	Avg. Occupancy 61.3%	Nursing Homes	Nursing Home Beds 350	Avg. Occupancy 96.5%
In-Patient Days 35,788	Total Admissions 7,908	Avg. Stay 4.53	Total Days 123,215		

	HOSPITALS			NURSING HOMES	
Stephens					
Hospitals 1	Hospital Beds <b>95</b>	Avg. Occupancy 39.3%	Nursing Homes 1	Nursing Home Beds 181	Avg. Occupancy 98.7%
In-Patient Days 13,618	Total Admissions 4,086	Avg. Stay <b>3.33</b>	Total Days 65,208		
Stewart					
Hospitals 1	Hospital Beds 32	Avg. Occupancy 22.2%	Nursing Homes 1	Nursing Home Beds 85	Avg. Occupancy 98.3%
In-Patient Days 2,593	Total Admissions 601	Avg. Stay 4.31	Total Days 30,483		
Sumter					
Hospitals 1	Hospital Beds 143	Avg. Occupancy 34.7%	Nursing Homes 2	Nursing Home Beds 338	Avg. Occupancy 96.5%
In-Patient Days 18,137	Total Admissions 4,278	Avg. Stay <b>4.24</b>	Total Days 119,082		
Talbot					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Taliaferro					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 0	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Tattnall					
Hospitals 1	Hospital Beds 40	Avg. Occupancy 11.5%	Nursing Homes 2	Nursing Home Beds 252	Avg. Occupancy 84.6%
In-Patient Days 1,686	Total Admissions 462	Avg. Stay <b>3.65</b>	Total Days 77,829		
Taylor					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 78	Avg. Occupancy 94.7%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 26,959		
Telfair					
Hospitals 1	Hospital Beds 52	Avg. Occupancy 13.7%	Nursing Homes 2	Nursing Home Beds 219	Avg. Occupancy 38.0%
In-Patient Days 2,606	Total Admissions 774	Avg. Stay <b>3.37</b>	Total Days 30,410		
Terrell					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds 74	Avg. Occupancy 97.5%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 26,342		

	HOSPITALS			NURSING HOMES	
Thomas					
Hospitals 1	Hospital Beds 264	Avg. Occupancy 54.9%	Nursing Homes 4	Nursing Home Beds 267	Avg. Occupancy 98.7%
In-Patient Days 52,911	Total Admissions 9,420	Avg. Stay <b>5.62</b>	Total Days 96,236		
Tift					
Hospitals 1	Hospital Beds 176	Avg. Occupancy 51.6%	Nursing Homes	Nursing Home Beds 293	Avg. Occupancy 90.6%
In-Patient Days 33,147	Total Admissions 8,640	Avg. Stay <b>3.84</b>	Total Days 96,912		
Toombs					
Hospitals 1	Hospital Beds 87	Avg. Occupancy 39.0%	Nursing Homes 3	Nursing Home Beds 347	Avg. Occupancy 95.7%
In-Patient Days 12,385	Total Admissions 4,436	Avg. Stay <b>2.79</b>	Total Days 121,216		
Towns					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 22.3%	Nursing Homes 1	Nursing Home Beds 112	Avg. Occupancy 98.5%
In-Patient Days 2,039	Total Admissions 570	Avg. Stay <b>3.58</b>	Total Days 40,248		
Treutlen					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 50	Avg. Occupancy 100.1%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 18,264		
Troup					
Hospitals 1	Hospital Beds 276	Avg. Occupancy 40.5%	Nursing Homes 3	Nursing Home Beds 404	Avg. Occupancy 96.2%
In-Patient Days 40,774	Total Admissions 9,233	Avg. Stay <b>4.42</b>	Total Days <b>141,805</b>		
Turner					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 76	Avg. Occupancy 94.5%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 26,214		
Twiggs					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds 131	Avg. Occupancy 54.8%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 26,224		
Union					
Hospitals 1	Hospital Beds 45	Avg. Occupancy 49.0%	Nursing Homes 1	Nursing Home Beds 150	Avg. Occupancy 99.8%
In-Patient Days 8,053	Total Admissions 2,037	Avg. Stay 3.95	Total Days 54,631		

	HOSPITALS			NURSING HOMES	
Upson					
Hospitals 1	Hospital Beds 115	Avg. Occupancy 43.5%	Nursing Homes	Nursing Home Beds 302	Avg. Occupancy 95.5%
In-Patient Days 18,275	Total Admissions 4,893	Avg. Stay <b>3.73</b>	Total Days 105,320		
Walker					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 4	Nursing Home Beds 433	Avg. Occupancy 97.5%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 154,102		
Walton					
Hospitals 1	Hospital Beds 77	Avg. Occupancy 35.1%	Nursing Homes	Nursing Home Beds 230	Avg. Occupancy 89.3%
In-Patient Days 9,863	Total Admissions 2,970	Avg. Stay <b>3.32</b>	Total Days 74,997		
Ware					
Hospitals 1	Hospital Beds 231	Avg. Occupancy 38.4%	Nursing Homes 3	Nursing Home Beds 442	Avg. Occupancy 96.1%
In-Patient Days 32,338	Total Admissions 7,788	Avg. Stay <b>4.15</b>	Total Days 155,032		
Warren					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 110	Avg. Occupancy 96.3%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 38,664		
Washington					
Hospitals 1	Hospital Beds 56	Avg. Occupancy 48.4%	Nursing Homes 4	Nursing Home Beds 226	Avg. Occupancy 76.4%
In-Patient Days 9,903	Total Admissions 2,065	Avg. Stay <b>4.80</b>	Total Days 63,052		
Wayne					
Hospitals 1	Hospital Beds 128	Avg. Occupancy 28.2%	Nursing Homes 3	Nursing Home Beds 224	Avg. Occupancy 65.6%
In-Patient Days 13,165	Total Admissions 3,219	Avg. Stay <b>4.09</b>	Total Days 53,606		
Webster					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days	Total Admissions	Avg. Stay	Total Days		
Wheeler					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 33.7%	Nursing Homes	Nursing Home Beds	Avg. Occupancy
In-Patient Days 3,072	Total Admissions 675	Avg. Stay <b>4.55</b>	Total Days		

Page 18

	HOSPITALS			NURSING HOMES	
White					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 2	Nursing Home Beds 149	Avg. Occupancy 96.7%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 52,612		
Whitfield					
Hospitals 1	Hospital Beds 282	Avg. Occupancy 43.7%	Nursing Homes 4	Nursing Home Beds 404	Avg. Occupancy 98.3%
In-Patient Days 44,972	Total Admissions 10,931	Avg. Stay 4.11	Total Days 144,902		
Wilcox					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 2	Nursing Home Beds 203	Avg. Occupancy 85.3%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 63,181		
Wilkes					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 69.0%	Nursing Homes 1	Nursing Home Beds 47	Avg. Occupancy 230.8%
In-Patient Days 6,299	Total Admissions 1,189	Avg. Stay <b>5.30</b>	Total Days 39,593		
Wilkinson					
Hospitals 0	Hospital Beds	Avg. Occupancy	Nursing Homes 1	Nursing Home Beds 62	Avg. Occupancy 97.8%
In-Patient Days	Total Admissions	Avg. Stay	Total Days 22,126		
Worth					
Hospitals 1	Hospital Beds 25	Avg. Occupancy 39.6%	Nursing Homes 1	Nursing Home Beds 117	Avg. Occupancy 90.8%
In-Patient Days 3,611	Total Admissions 608	Avg. Stay <b>5.94</b>	Total Days 38,762		
Report created by Georgia Boar	d for Physician Work	force, State of Georgia	3		